THERMOPI ASTIC PAVEMENT MARKINGS (Surface preparation does not include removal of existing striping)

| ITEM | EST | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN | EXTENDED |
|-------------|-------------|------|---|-----------------------|-----------------|
| NO. | ONTY | | Furnish and Install Solid White or Yellow Traffic Paint (4") | FIGURES | AMOUNT |
| 1 | 5,000 | LF | including surface preparation, complete and in place, for the sum of | \$0.40 | \$2,000.00 |
| 2 | 5,000 | LF | Furnish and Install Solid White or Yellow Traffic Paint (6") including surface preparation, complete and in place, for the sum of | \$0.60 | \$3,000.00 |
| 3 | 3,000 | LF | Furnish and Install Solid White or Yellow Traffic Paint (8") including surface preparation, complete and in place, for the sum of | \$0.80 | \$2,400.00 |
| 4 | 1,000 | LF | Furnish and Install Solid White or Yellow Traffic Paint (12") including surface preparation, complete and in place, for the sum of One | \$1.50 | \$1,500.00 |
| 5 | 500 | LF | Furnish and Install Solid White or Yellow Traffic Paint (24") including surface preparation, complete and in place, for the sum of | \$3.00 | \$1,500.00 |
| 6 | 10 | EA | Furnish and Install Solid White Traffic Paint (Word) "ONLY" including surface preparation, complete and in place, for the sum of Fifty-Five Dollars & O Cents per Each | \$55.00 | \$550.00 |
| 7 | 15 | EA | Furnish and Install Solid White Traffic Paint (Arrow) (Right, Left, U-Turn, or Straight) including surface preparation, complete and in place, for the sum of | \$50.00 | \$750.00 |
| 8 | 2,500 | LF | Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (4") including surface preparation, complete and in place, for the sum of | \$0.75 | \$1,875.00 |
| ITEM NO. | EST QNTY | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |

| 9 | 2,500 | LF | Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (6") including surface preparation, complete and in place, for the sum of One Dollars & Twelve Cents Per Linear Foot | \$1.12 | \$2,800.00 |
|----|-------|----|---|----------|------------|
| 10 | 1,000 | LF | Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (8") including surface preparation, complete and in place, for the sum of One Dollars & Fifty Cents Per Linear Foot | \$1.50 | \$1,500.00 |
| 11 | 500 | LF | Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (12") including surface preparation, complete and in place, for the sum of Three Dollars & Seventy-Five Cents Per Linear Foot | \$3.75 | \$1,875.00 |
| 12 | 500 | LF | Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (24") including surface preparation, complete and in place, for the sum of Seven Dollars & Tifty Cents Per Linear Foot | \$7.50 | \$3,750.00 |
| 13 | 500 | LF | Furnish and Install Hot Applied Thermoplastic Solid Yellow Pavement Markings (4") including surface preparation, complete and in place, for the sum of | \$0.75 | \$375.00 |
| 14 | 50 | LF | Furnish and Install Hot Applied Thermoplastic Solid Yellow Pavement Markings (12" x 18" Yield Line) including surface preparation, complete and in place, for the sum of Six Dollars & Cents Per Linear Foot | \$6.00 | \$300.00 |
| 15 | 50 | LF | Furnish and Install Hot Applied Thermoplastic Solid Yellow Pavement Markings (24" x 36" Yield Line) including surface preparation, complete and in place, for the sum of | \$12.00 | \$600.00 |
| 16 | 15 | EA | Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (Word) "ONLY" including surface preparation, complete and in place, for the sum ofOne-Hundred Eighty-FiveDollars &OCents per Each | \$185.00 | \$2,775.00 |

| ITEM NO. | EST QNTY | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |
|-------------|-------------|------|---|-----------------------|--------------------|
| 17 | 15 | EA | Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (Arrow) (Right, Left, U-Turn, or Straight) including surface preparation, complete and in place, for the sum ofOne-Hundred Ninety-Five Dollars &OCents per Each | \$195.00 | \$2,925.00 |
| 18 | 50 | EA | Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (Sharks Teeth / Yield Triangles) including surface preparation, complete and in place, for the sum of | \$35.00 | \$1,750.00 |
| 19 | 2,500 | LF | Remove Traffic Paint (4") (this is not surface preparation for other items), complete and in place, for the sum of | \$0.25 | \$625.00 |
| 20 | 2,500 | LF | Remove Traffic Paint (6") (this is not surface preparation for other items), complete and in place, for the sum of | \$0.38 | \$950.00 |
| 21 | 1,000 | LF | Remove Solid Traffic Paint (8") (this is not surface preparation for other items), complete and in place, for the sum of | \$0.50 | \$500.00 |
| 22 | 1,000 | LF | Remove Solid Traffic Paint (12") (this is not surface preparation for other items), complete and in place, for the sum of | \$0.75 | \$750.00 |
| 23 | 500 | LF | Remove Solid Traffic Paint (24") (this is not surface preparation for other items), complete and in place, for the sum of One Dollars & Fifty Cents Per Linear Foot | \$1.50 | \$750.00 |
| 24 | 10 | EA | Remove Solid White Traffic Paint (Word) "ONLY" (this is not surface preparation for other items), complete and in place, for the sum of | \$15.00 | \$150.00 |

Bid #2018-10-1 Addendum 1 37

| ITEM NO: | EST QNTY | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |
|-------------|-------------|------|--|-----------------------|-----------------|
| 25 | 10 | EA | Remove Solid White Traffic Paint (Arrow) (Right, Left, U-Turn, or Straight) (this is not surface preparation for other items), complete and in place, for the sum of | \$20.00 | \$200.00 |
| 26 | 500 | LF | Remove Hot Applied Thermoplastic Solid Pavement Markings (4") (this is not surface preparation for other items), complete and in place, for the sum of | \$0.50 | \$250.00 |
| 27 | 500 | LF | Remove Hot Applied Thermoplastic Solid Pavement Markings (6") (this is not surface preparation for other items), complete and in place, for the sum of | \$0.75 | \$375.00 |
| 28 | 500 | LF | Remove Hot Applied Thermoplastic Solid Pavement Markings (8") (this is not surface preparation for other items), complete and in place, for the sum of One Dollars & Cents Per Linear Foot | \$1.00 | \$500.00 |
| 29 | 300 | LF | Remove Hot Applied Thermoplastic Solid Pavement Markings (12") (this is not surface preparation for other items), complete and in place, for the sum of One Dollars & Fifty Cents Per Linear Foot | \$1.50 | \$450.00 |
| 30 | 200 | LF | Remove Hot Applied Thermoplastic Solid Pavement Markings (24") (this is not surface preparation for other items), complete and in place, for the sum of | \$3.00 | \$600.00 |
| 31 | 5 | LF | Remove Hot Applied Thermoplastic Pavement Markings (12" x 18" Yield Line) (this is not surface preparation for other items), complete and in place, for the sum of | \$5.00 | \$25.00 |
| 32 | 5 | LF | Remove Hot Applied Thermoplastic Pavement Markings (24" x 36" Yield Line) (this is not surface preparation for other items), complete and in place, for the sum of | \$10.00 | \$50.00 |

| ITEM NO. | EST ONTY | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |
|-------------|-------------|------|--|-----------------------|--------------------|
| 33 | 5 | EA | Remove Hot Applied Thermoplastic Pavement Markings (Word) (this is not surface preparation for other items), complete and in place, for the sum of | \$25.00 | \$125.00 |
| 34 | 5 | EA | Remove Hot Applied Thermoplastic Pavement Markings (Arrow) (Right, Left, U-Turn, or Straight) (this is not surface preparation for other items), complete and in place, for the sum of | \$45.00 | \$225.00 |
| 35 | 50 | EA | Remove Hot Applied Thermoplastic Pavement Markings (Sharks Teeth / Yield Triangles) (this is not surface preparation for other items), complete and in place, for the sum of | \$25.00 | \$1,250.00 |
| 36 | 1,500 | LF | Furnish and Install Solid Red Fire Lane Traffic Paint (6") With "FIRE LANE" (4") And/Or "NO PARKING" (4") Alternating Every Fifty (50) Feet On Curb-Face Or Pavement, As Directed By The Engineer, Including surface preparation, complete and in place, for the sum of | \$0.45 | \$675.00 |
| 37 | 1,500 | LF | Furnish and Install Solid White Traffic Paint (6") With "VISITOR" (4") And/Or Other Text (4") to be determined by the Engineer Every Ten (10) Feet On Curb-Face Or Pavement, As Directed By The Engineer, Including surface preparation, complete and in place, for the sum of One One One Cents Per Linear Foot | \$1.00 | \$1,500.00 |
| 38 | 100 | SF | Furnish and Install 3M Stamark 270 ES Pavement Marking Tape for crosswalks and stop bars, including surface preparation, complete and in place, for the sum of | \$15.75 | \$1,575.00 |
| 39 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – ARROW symbol, complete and in place, for the sum of | \$266.40 | \$1,332.00 |

| ITEM | EST | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN | EXTENDED AMOUNT |
|------------|--------|------|---|-------------------------|-----------------|
| NO. | ONTY 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – SCHOOL legend, complete and in place, for the sum of Seven-Hundred Forty-OneDollars &ThirtyCents per Each | FIGURES \$741.30 | \$3,706.50 |
| 41 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – BUS legend, complete and in place, for the sum of | \$500.00 | \$2,500.00 |
| 42 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – PED legend, complete and in place, for the sum of | \$500.00 | \$2,500.00 |
| 43 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – STOP legend, complete and in place, for the sum of | \$532.80 | \$2,664.00 |
| 44 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – SLOW, complete and in place, for the sum of Five-Hundred Thirty-TwoDollars &EightyCents per Each | \$532.80 | \$2,664.00 |
| 45 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – YIELD, complete and in place, for the sum of | \$868.70 | \$4,343.50 |
| 46 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – ONLY, complete and in place, for the sum of | \$428.55 | \$2,142.75 |
| 47 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – MPH, complete and in place, for the sum of | \$500.00 | \$2,500.00 |

| ITEM NO. | EST ONTY | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |
|-------------|-------------|------|--|-----------------------|-----------------|
| 48 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – MERGE, complete and in place, for the sum of Nine-Hundred Fifty-FiveDollars &0Cents per Each | \$955.00 | \$4,775.00 |
| 49 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends — BIKE, complete and in place, for the sum of Two-Hundred SixtyDollars & | \$260.00 | \$1,300.00 |
| 50 | 5 | EA | Furnish and Install 3M Stamark 270 ES for symbols and legends – LANE, complete and in place, for the sum of | \$868.00 | \$4,340.00 |
| 51 | 100 | SF | Furnish and Install 3M Stamark 380 AW Pavement Marking Tape for crosswalks and stop bars, including surface preparation, complete and in place, for the sum of | \$25.00 | \$2,500.00 |
| 52 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – ARROW symbol, complete and in place, for the sum of | \$457.50 | \$2,287.50 |
| 53 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – SCHOOL legend, complete and in place, for the sum of One-Thousand Two-Hundred Oents per Each | \$1,200.00 | \$6,000.00 |
| 54 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends — BUS legend, complete and in place, for the sum of One-Thousand Dollars & Cents per Each | \$1,000.00 | \$5,000.00 |
| 55 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – PED legend, complete and in place, for the sum of One-Thousand Dollars & Cents per Each | \$1,000.00 | \$5,000.00 |

| ITEM NO. | EST ONTY | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |
|-------------|-------------|------|--|-----------------------|--------------------|
| 56 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – XING legend, complete and in place, for the sum of | \$799.20 | \$3,996.00 |
| 57 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – STOP legend, complete and in place, for the sum of | \$833.97 | \$4,169.85 |
| 58 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – SLOW, complete and in place, for the sum of One-Thousand Dollars & Cents per Each | \$1,000.00 | \$5,000.00 |
| 59 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends — YTELD, complete and in place, for the sum ofOne-Thousand Four-Hundred ThirteenDollars &Cents per Each | \$1,413.10 | \$7,065.50 |
| 60 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – ONLY, complete and in place, for the sum of | \$735.60 | \$3,678.00 |
| 61 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – MPH, complete and in place, for the sum of One-Thousand and Seven Seventy Cents per Each | \$1,007.70 | \$5,038.50 |
| 62 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – MERGE, complete and in place, for the sum of One-Thousand Five-Hundred Fifty-TwoDollars &TenCents per Each | \$1,552.10 | \$7,760.50 |
| 63 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – BIKE, complete and in place, for the sum of | \$425.55 | \$2,127.75 |

| ITEM NO. | EST ONTY | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |
|-------------|-------------|------|--|-----------------------|-----------------|
| 64 | 5 | EA | Furnish and Install 3M Stamark 380 AW for symbols and legends – LANE, complete and in place, for the sum of One-Thousand Ocents per Each | \$1,000.00 | \$5,000.00 |
| 65 | 300 | EA | Furnish and Install Sharrow Street Marking (Shared-Lane Marking), complete and in place, for the sum of | \$305.90 | \$91,770.00 |

TOTAL THERMOPLASTIC PAVEMENT MARKINGS:

\$234,911.35

RAISED PAVEMENT MARKINGS (Surface preparation shall include removal of extraneous material (i.e. glue, oil, existing

| ITEM NO. | EST ONTY | UNIT | concrete or asphalt) DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |
|-------------|-------------|------|--|-----------------------|-----------------|
| 1 | 1,000 | EA | Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type I-A Reflectorized Marker) including surface preparation, complete and in place, for the sum of | \$3.75 | \$3,750.00 |
| 2 | 1,001 | EA | Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type I-C Reflectorized Marker) including surface preparation, complete and in place, for the sum of | \$3.75 | \$3,753.75 |
| 3 | 1,002 | EA | Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-A-A Reflectorized Marker) including surface preparation, complete and in place, for the sum of | \$3.75 | \$3,757.50 |
| 4 | 10 | EA | Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-A-R Reflectorized Marker) including surface preparation, complete and in place, for the sum of | \$4.00 | \$40.00 |

| ITEM NO. | EST ONTY | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |
|-------------|-------------|------|---|-----------------------|-----------------|
| 5 | 1,004 | EA | Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-C-C Reflectorized Marker) including surface preparation, complete and in place, for the sum of | \$4.00 | \$4,016.00 |
| 6 | 1,005 | EA | Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-C-R Reflectorized Marker) including surface preparation, complete and in place, for the sum of | \$3.75 | \$3,768.75 |
| 7 | 1,006 | EA | Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type W) including surface preparation, complete and in place, for the sum of | \$3.50 | \$3,521.00 |
| 8 | 1,007 | EA | Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type Y) including surface preparation, complete and in place, for the sum of | \$3.50 | \$3,524.50 |
| 9 | 50 | EA | Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-B-B Reflectorized Marker) including surface preparation, complete and in place, for the sum of Ten | \$10.00 | \$500.00 |
| 10 | 200 | EA | Furnish and Install with Epoxy Raised Channelizing Traffic Ceramic Round Buttons (6") including surface preparation, complete and in place, for the sum of | \$15.00 | \$3,000.00 |
| 11 | 200 | EA | Furnish and Install with Epoxy Raised Channelizing Traffic Ceramic Round Buttons (8") including surface preparation, complete and in place, for the sum of Fifty Dollars & | \$50.00 | \$10,000.00 |
| 12 | 100 | EA | Furnish and Install with Epoxy 6" Raised Acrylic Jiggle Bar Tile (Type I-A Reflectorized) including surface preparation, complete and in place, for the sum of Sixteen Dollars & O Cents per Each | \$16.00 | \$1,600.00 |

| ITEM NO. | EST QNTY | UNIT | DESCRIPTION AND PRICE IN WORDS | UNIT PRICE IN FIGURES | EXTENDED AMOUNT |
|-------------|-------------|------|--|-----------------------|-----------------|
| 13 | - 100 | EA | Furnish and Install with Epoxy 6" Raised Acrylic Jiggle Bar Tile (Type I-C Reflectorized) including surface preparation, complete and in place, for the sum of Sixteen Dollars & Cents per Each | \$16.00 | \$1,600.00 |
| 14 | 50 | EA | Furnish and Install with Epoxy 6" Raised Acrylic Jiggle Bar Tile (Type W Nonreflectorized) including surface preparation, complete and in place, for the sum of | \$15.00 | \$750.00 |
| 15 | 50 | EA | Furnish and Install with Epoxy 6" Raised Acrylic Jiggle Bar Tile (Type Y Nonreflectorized) including surface preparation, complete and in place, for the sum of | \$15.00 | \$750.00 |
| 16 | 2,000 | EA | Remove Raised Pavement Markers or Buttons Including glue to existing pavement, complete and in place, for the sum of One Dollars & Cents per Each | \$1.00 | \$2,000.00 |
| 17 | 100 | EA | Remove Raised Jiggle Bar Tile including glue to existing pavement, complete and in place, for the sum of FiveDollars & | \$5.00 | \$500.00 |

\$46,831.50

PROPOSAL SUMMARY

| TOTAL THERMOPLASTIC PAVEMENT MARKINGS: | \$234,911.35 | |
|--|--------------------------------|----|
| TOTAL RAISED PAVEMENT MARKINGS: | 46831.50 \$ 0.00 | Pc |
| | 8 | |

281, 742.85 Pc TOTAL BID \$234,911.35

Bid #2018-10-1 Addendum 1

BID ENDORSEMENT

The Contractor hereby agrees to commence work within Ten (10) days after the written notice to do so shall have been given to him, subject to such extensions of time as are provided by the General and Special Conditions. The work proposed to be done shall be accepted when fully completed and finished in accordance with the specifications.

In the event of the award of a contract to the undersigned, the undersigned will furnish a Performance Bond and Payment Bond for the full amount of the contract.

The undersigned certifies that the bid prices contained in this proposal have been carefully checked and are submitted as correct and final.

NOTE: Unit and lump sum prices must be shown in words and figures for each item listed in the proposal and in the event of discrepancy the words shall control.

Receipt is hereby acknowledged for the following addenda to the contract documents:

| Addendum No. 1 dated | 11-9-17 | Received | 11-9-17 |
|----------------------|---------|----------|---------|
| Addendum No. 2 dated | | Received | |
| Addendum No. 3 dated | | Received | |

<u>Prohibition of Boycott Israel</u>. Vendor verifies that it does not Boycott Israel, and agrees that during the term of this Agreement will not Boycott Israel as that term is defined in Texas Government Code Section 808.001, as amended.

The undersigned, in submitting this bid proposal and their endorsement of same, represents that they are authorized to obligate their firm, that they have read this entire bid proposal package, is aware of the covenants contained herein and will abide by and adhere to the expressed requirements. Submittals will be considered as being responsive only if entire Bid Package plus any/all attachments is returned with all blanks completed.

Road Master Striping

Contractor

By: DINO Vasa Je 2

(please print name)

Signature: Dino Vasa Je 2

Title: President

1301 SE MCK inney

Address

Rice Tx Navara, 75155

City, County, State and Zip

903-324-4671

Telephone Fax No.

E-Mail Address: dvc road master striping.com

Seal and Authorization (If a Corporation)